

Characterization of Double Representation of Quaternion Quasi-Normal Matrices

Dr. Gunasekaran .K¹, Rajeswari . J.²

^(1,2)Ramanujan Research Centre, PG and Research Department of Mathematics,
Government Arts College(Autonomous), Kumbakonam.
Tamil Nadu, India.

Email: rajeswari1983bose@gmail.com

ABSTRACT

In this paper, the properties of quaternion quasi-normal matrices in the form of double representation of complex matrices. The sum and basic product of the quaternion matrices. Also this is applied to the double representation of quaternion matrices.

AMS Classification: 15A04, 15A15, 15A48

Key words: quaternion quasi-normal, normal, quasi-normal.

INTRODUCTION

A normal matrix $A = (a_{ij})$ with complex elements is a matrix such that $AA^{CT} = A^{CT}A$ where A^{CT} denotes the (complex) conjugate transpose of A . In an article by K. Morita[4] a quasi-normal matrix is defined to be a complex matrix A which is such that $AA^{CT} = A^T A^C$, where T denotes the transpose of A and A^C the matrix in which each element is replaced by its conjugate, and certain basic properties of such a matrix are developed there.

In this paper, some basic results about to the quaternion quasi-normal are developed, which will need as to study the further development and application of quaternion quasi-normal matrices.

Theorem: 1[3]

If a quaternion matrix $A \in H_{n \times n}$ is defined as double representation of the form $A = A_0 + A_1 j$ where A_0 and A_1 are quasi-normal then A^C is also a quaternion quasi-normal.

Proof:

Let $A \in H_{n \times n}$ then we defined as $A = A_0 + A_1 j$ where A_0 and A_1 are quasi-normal. We have to prove that A^C is also a quaternion quasi-normal. $A = A_0 + A_1 j$ implies that $A^C = A_0^C - A_1^C j$

$$\begin{aligned} \text{We have } A^C(A^C)^{CT} &= (A_0^C - A_1^C j)(A_0^C - A_1^C j)^{CT} = A_0^C A_0^T - A_1^C A_1^T j \\ &= (A_0^T A_0^C)^T - (A_1^T A_1^C)^T j \quad [\text{Since } A_0 A_0^{CT} = A_0^T A_0^C \text{ and } A_1 A_1^{CT} = A_1^T A_1^C] = (A_0^{CT} - A_1^{CT} j)(A_0 + A_1 j) \\ &= (A^C)^T (A^C)^C. \end{aligned}$$

Theorem: 2

If a quaternion matrix $A \in H_{n \times n}$ is defined as double representation of the form $A = A_0 + A_1 j$ where A_0 and A_1 are quasi-normal then A^T and A^{CT} are also a quaternion quasi-normal.

Proof:

Let $A \in H_{n \times n}$ then we defined as $A = A_0 + A_1 j$ where A_0 and A_1 are quasi-normal. We have to prove that A^T is also a quaternion quasi-normal. That is $A^T (A^T)^{CT} = (A^T)^T (A^T)^C$. $A = A_0 + A_1 j$ implies that $A^T = A_0^T + A_1^T j$. Now $A^T (A^T)^{CT} = (A_0^T + A_1^T j)(A_0^C - A_1^C j) = A_0^T A_0^C - A_1^T A_1^C j$ [Since $A_0 A_0^{CT} = A_0^T A_0^C$ and $A_1 A_1^{CT} = A_1^T A_1^C$] $= (A_0^T + A_1^T j)^T (A_0^T + A_1^T j)^C = (A^T)^T (A^T)^C$.

Next we have to prove that A^{CT} is also a quaternion quasi-normal. That is $A^{CT} (A^{CT})^{CT} = (A^{CT})^T (A^{CT})^C$. Let us consider $A = A_0 + A_1 j$ implies that $A^{CT} = A_0^{CT} - A_1^{CT} j$. Now, $A^{CT} (A^{CT})^{CT} = (A_0^{CT} - A_1^{CT} j)(A_0^T + A_1^T j) = A_0^T A_0^C - A_1^T A_1^C j$ [By the definition $AA^{CT} = A^{CT}A = A^T A^C$] $= (A_0^C - A_1^C j)(A_0^T + A_1^T j) = (A^{CT})^T (A^{CT})^C$.

Theorem: 3

If a quaternion matrix $A \in H_{n \times n}$ is defined as double representation of the form $A = A_0 + A_1 j$ where A_0 and A_1 are quasi-normal then A^{-1} and λA are also a quaternion quasi-normal.

Proof:

Let $A \in H_{n \times n}$ then we defined as $A = A_0 + A_1 j$ where A_0 and A_1 are quasi-normal. We have to prove that A^{-1} is also a quaternion quasi-normal. That is $A^{-1} (A^{-1})^{CT} = (A^{-1})^T (A^{-1})^C$.

$A = A_0 + A_1 j$ implies that $A^{-1} = A_0^{-1} + A_1^{-1} j$. Now $A^{-1} (A^{-1})^{CT} = (A_0^{-1} + A_1^{-1} j) [(A_0^{-1})^{CT} - (A_1^{-1})^{CT} j] = (A_0^{CT} A_0)^{-1} - (A_1^{CT} A_1)^{-1} j = (A_0^C A_0^T)^{-1} - (A_1^C A_1^T)^{-1} j$ [Since $A^T A^C = A^C A^T$] $= (A_0^{-1})^T (A_0^{-1})^C - (A_1^{-1})^T (A_1^{-1})^C j = (A^{-1})^T (A^{-1})^C$.

Next we have to prove that λA is also a quaternion quasi-normal. That is $(\lambda A)(\lambda A)^{CT} = (\lambda A)^T (\lambda A)^C$. Now, Let us consider, $(\lambda A)(\lambda A)^{CT} = (\lambda A_0 + \lambda A_1 j)(\lambda A_0^{CT} - \lambda A_1^{CT} j) = \lambda^2 (A_0 A_0^{CT}) - \lambda^2 (A_1 A_1^{CT}) j = \lambda^2 (A_0^T A_0^C) - \lambda^2 (A_1^T A_1^C) j = (\lambda A_0^T + \lambda A_1^T j)(\lambda A_0^C - \lambda A_1^C j) = (\lambda A)^T (\lambda A)^C$.

Theorem: 4

If A and B are double representation of quaternion quasi-normal then $(A + B)$ and $(A - B)$ are also double representation of quaternion quasi-normal.

Proof:

Let us consider A and B are double representation of quaternion quasi-normal. Then $AA^{CT} = A^T A^C$ and $BB^{CT} = B^T B^C$. That is

$$A_0 A_0^{CT} - A_1 A_1^{CT} j = A_0^T A_0^C - A_1^T A_1^C j \quad \dots\dots\dots(1)$$

$$B_0 B_0^{CT} - B_1 B_1^{CT} j = B_0^T B_0^C - B_1^T B_1^C j \quad \dots\dots\dots(2)$$

Adding Eq.(1) and Eq.(2), we get

$$(A_0 A_0^{CT} - A_1 A_1^{CT} j) + (B_0 B_0^{CT} - B_1 B_1^{CT} j) = (A_0^T A_0^C - A_1^T A_1^C j) + (B_0^T B_0^C - B_1^T B_1^C j)$$

Therefore,

$$(A_0 A_0^{CT} + B_0 B_0^{CT}) - (A_1 A_1^{CT} + B_1 B_1^{CT}) j = (A_0^T A_0^C + B_0^T B_0^C) - (A_1^T A_1^C + B_1^T B_1^C) j \quad \dots\dots\dots(3)$$

$$\text{We get } AB^{CT} + BA^{CT} = A^T B^C + B^T A^C \quad \dots\dots\dots(4)$$

(where $A = A_0 + A_1 j$ and $B = B_0 + B_1 j$).

$$\begin{aligned} AB^{CT} + BA^{CT} &= (A_0 + A_1 j)(B_0^{CT} - B_1^{CT} j) + (B_0 + B_1 j)(A_0^{CT} - A_1^{CT} j) \\ &= (A_0 B_0^{CT} + B_0 A_0^{CT}) - (A_1 B_1^{CT} + B_1 A_1^{CT}) j \quad \dots\dots\dots(5) \end{aligned}$$

$$\begin{aligned} A^T B^C + B^T A^C &= [(A_0^T + A_1^T j)(B_0^C - B_1^C j)] + [(B_0^T + B_1^T j)(A_0^C - A_1^C j)] \\ &= (A_0^T B_0^C + B_0^T A_0^C) - (A_1^T B_1^C + B_1^T A_1^C) j \quad \dots\dots\dots(6) \end{aligned}$$

Pre and post add by $AB^{CT} + BA^{CT} = A^T B^C + B^T A^C$ in equation Eq.(3).

$$\begin{aligned} (AB^{CT} + BA^{CT}) + (A_0 A_0^{CT} + B_0 B_0^{CT}) - (A_1 A_1^{CT} + B_1 B_1^{CT}) j &= \\ (A^T B^C + B^T A^C) + (A_0^T A_0^C + B_0^T B_0^C) - (A_1^T A_1^C + B_1^T B_1^C) j &\quad \dots\dots\dots(7) \end{aligned}$$

From Eq.(7), we get

$$\begin{aligned} (AB^{CT} + BA^{CT}) + (A_0 A_0^{CT} + B_0 B_0^{CT}) - (A_1 A_1^{CT} + B_1 B_1^{CT}) j &\text{ implies that} \\ = [A_0 B_0^{CT} + B_0 A_0^{CT} + A_0 A_0^{CT} + B_0 B_0^{CT}] - [A_1 B_1^{CT} + B_1 A_1^{CT} + A_1 A_1^{CT} + B_1 B_1^{CT}] j & \\ = [(A_0 + B_0)(A_0^{CT} + B_0^{CT})] - [(A_1 + B_1)(A_1^{CT} + B_1^{CT})] j & \\ = (A + B)[(A_0 + A_1 j)^{CT} + (B_0 + B_1 j)^{CT}] & \end{aligned}$$

Therefore,

$$(AB^{CT} + BA^{CT}) + (A_0 A_0^{CT} + B_0 B_0^{CT}) - (A_1 A_1^{CT} + B_1 B_1^{CT}) j = (A + B)(A + B)^{CT} \quad \dots\dots\dots(8)$$

From Eq.(7), we get

$$\begin{aligned} (A^T B^C + B^T A^C) + (A_0^T A_0^C + B_0^T B_0^C) - (A_1^T A_1^C + B_1^T B_1^C) j &\text{ implies that} \\ = [A_0^T B_0^C + B_0^T A_0^C + A_0^T A_0^C + B_0^T B_0^C] - [A_1^T B_1^C + B_1^T A_1^C + A_1^T A_1^C + B_1^T B_1^C] j & \\ = [(A_0^T + B_0^T)(A_0^C + B_0^C)] - [(A_1^T + B_1^T)(A_1^C + B_1^C)] j & \\ = [(A_0 + A_1 j)^T + (B_0 + B_1 j)^T][(A_0 + A_1 j)^C + (B_0 + B_1 j)^C] & \end{aligned}$$

Therefore,

$$(A^T B^C + B^T A^C) + (A_0^T A_0^C + B_0^T B_0^C) - (A_1^T A_1^C + B_1^T B_1^C) j = (A + B)^T (A + B)^C \quad \dots\dots\dots(9)$$

From Eq.(8) and Eq.(9) we get,

$$(AB^{CT} + BA^{CT}) + (A_0A_0^{CT} + B_0B_0^{CT}) - (A_1A_1^{CT} + B_1B_1^{CT})j = (A^T B^C + B^T A^C) + (A_0^T A_0^C + B_0^T B_0^C) - (A_1^T A_1^C + B_1^T B_1^C)j$$

Implies that, $(A + B)(A + B)^{CT} = (A + B)^T (A + B)^C$.

Therefore, $(A + B)$ is double representation of quaternion quasi-normal. Similarly we can prove $(A - B)$ is double representation of quaternion quasi-normal.

Theorem: 5

If A be double representation of quaternion quasi-normal then AA^C is also double representation of quaternion quasi-normal.

Proof:

Given A be double representation of quaternion quasi-normal. Therefore $A = A_0 + A_1j$. We have to prove AA^C is also double representation of quaternion quasi-normal. That is $(AA^C)(AA^C)^{CT} = (AA^C)^T (AA^C)^C$. We have $A = A_0 + A_1j$ implies that $A^C = A_0^C - A_1^Cj$. Therefore, $AA^C = A_0A_0^C - A_1A_1^Cj$, $(AA^C)^{CT} = A_0^T A_0^{CT} + A_1^T A_1^{CT}j$, $(AA^C)^T = A_0^{CT} A_0^T - A_1^{CT} A_1^Tj$, $(AA^C)^C = A_0^C A_0 + A_1^C A_1j$.

From the above results, we get $(AA^C)(AA^C)^{CT} = (A_0A_0^C A_0^T A_0^{CT}) - (A_1A_1^C A_1^T A_1^{CT})j = A_0(A_0A_0^{CT})A_0^{CT} - A_1(A_1A_1^{CT})A_1^{CT}j = (A_0A_0^{CT})^2 - (A_1A_1^{CT})^2j$. Now, $(AA^C)^T (AA^C)^C = A_0^{CT} A_0^T A_0^C A_0 - A_1^{CT} A_1^T A_1^C A_1j = A_0^{CT} (A_0A_0^{CT})A_0 - A_1^{CT} (A_1A_1^{CT})A_1j = (A_0A_0^{CT})^2 - (A_1A_1^{CT})^2j$ [since $A_0^{CT} A_0 = A_0A_0^{CT}$] = $(A_0A_0^{CT})^2 - (A_1A_1^{CT})^2j$

Therefore $(AA^C)(AA^C)^{CT} = (AA^C)^T (AA^C)^C$. Therefore AA^C is also double representation of quaternion quasi-normal.

Remark:

We can easily proof that, A be double representation of quaternion quasi-normal then $A^C A$ is also double representation of quaternion quasi-normal.

References:

- [1] Gunasekaran, K.; Rajeswari, J. (2017): Quaternion Quasi-Normal Matrices. International Journal of Mathematics Trends and Technology, Vol. 50, pp. 33-35.
- [2] Gunasekaran, K.; Rajeswari, J. (2018): Quaternion Quasi-Normal Products Of Matrices. International Journal Of Innovatice Research And Advanced Studies, Vol. 5, pp. 67-69.
- [3] Junliang Wu ; Pingping Zhang ;(2011): On Bicomplex Representation Methods And Applications Of Matrices Over Quaternionic Division Algebra. Advances in Pure Mathematics, 1, 9-15.
- [4] Morita, K. (1994): Uber Normale Antilineare Transformationen. J. Acad. Proc. Tokyo, 20 , 715-720.
- [5] Robert Grone ; Charles R. Johnson; Eduardo M. Sa ; Henry Wolkowicz(1987): Normal Matrices. Linear Algebra and its Applications 87: 213-225.
- [6] Wiegmann, N. (1948): Normal Products of Matrices. Duke Math. Journal 15, 633-638.
- [7] Wiegmann, N.A. (1969): Quasi-Normal Matrices and Products. Com. Org. Core. term. 329-339.